

Compartment 2008, SET-1

General Instructions:

(1) All questions are compulsory.

(2) The questions paper consist of 30 questions divided into four sections – A,B,C and D. Section A comprises of ten questions of 1 mark each, Section B comprises of five questions of 2 marks each, Section C comprises of ten questions of 3 marks each and Section D comprises of five questions of 6 marks each.

(3) All questions in Section A are to be answered in one word, one sentence or as per the exact requirement of the questions.

(4) There is no overall choice. However, an internal choice has been provided in one question of 2 marks each, three questions of 3 mark each and two questions of 6 marks each. You have to attempt only one of the alternatives in all such questions.

(5) In questions on construction, the drawings should be neat and exactly as per the given measurement.

(6) Use of calculators is not permitted.

SECTION A

1. Write the HCF of the smallest composite number and the smallest prime number.(HOT)

2. The graph of y = f(x) is given in Fig 1. what is the number of zeroes of f(x)?

3. For what value of k, are the roots of the quadratic equation 3x2 + 2kx +27 =0 real and equal?

4. find the next term of the A.P..

        ( 2,      ( 8,      (18,……………..

5. Given that 
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6. The perimeter of two similar triangles ABC and LMN are 60 cm and 48 cm respectively. If LM = 8 cm, then what is the length of AB?

7. From a point P, the length of the tangent to a circle is 15 cm and distance of P from the center of the circle is 17 cm. Then what is the radius of the circle?

8. A chord of a circle of radius 14 cm subtends 
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 EMBED Equation.DSMT4  [image: image4.wmf]at the center. Find the area of the major sector.

9. Cards bearing of numbers 3 to 20 are placed in a bag and mixed 

thoroughly. A card is taken out from the bag at random. What is the probability that the number on the card taken out is an even number?

10. What measure of central tendency is obtained graphically as the x-

coordinate of  the point of intersection of the two ogives for this data ?

SECTION-B

11. Find a quadratic polynomial whose zeros are 1 and –3. Verify the relation between the coefficients and zeros of the polynomial.

12. If A, B and C are interior angles of a triangle ABC, then show that

sin
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13. For what value of p, are the point (-3,9),(2,p) and (4,-5) collinear ?

14. In Figure2, DE || BC and 
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 . If AC = 4.8 cm, find the length of AE.
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12. If tan (A + B) = +/3 and tan (A - B) =

What measure of central tendency is obtained graphically as the x-coordinate of the point
of intersection of the two ogives for this data ?
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Cards bearing numbers 3 to 20 are placed in a bag and mixed thoroughly. A card is
taken out from the bag at random. What is the probability that the number on the card

taken out is an even number ?
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SECTION B
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Questions number 11 to 15 carry 2 marks each.
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1/.>)btain all other zeroes of the polynomial 2x% — 4x — x* + 2 if two of its zeroes are

V2 and —/2.
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values of A and B.
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18. In Figure 2, DE||BC and =" If AC = 48 cm, find the length of AE.
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15. A bag contains 5 red , 4 blue and 3 green balls. A ball is taken out of the bag at random. Find the probability that the selected ball is (i) or red colour (ii) not of green colour.

 Or

A card is drawn at random from a well shuffled deck of playing cards. Find the probability of drawing a (1) face card
(2) card which is neither a king nor a red card.

Section C

16. Show that 2+( 3 is an irrational number.(HOT)

OR

Show that only one of the numbers n, n+2 and n+4 is divisible by 3.

17. Find all the zeroes of 2x4 –9x3+5x2 +3x –1 , If two of its zeroes are 2+( 3 and 2-( 3.

18. Solve the following system of equations for x and y:

OR

For what of a and b does the following pair of linear equations have an infinite number of solutions?

2x+3y =7

a(x+y)-b(x-y) =3a + b – 2
(HOT)

19. The first and the last term of an A.P. are 4 and 81 respectively. I(f the common difference is 7, how many terms are there in the A.P. and what is their sum?

20. Prove that : 

21. Show that the points (3,2), (0,5), (-3,2) and (0, -1) are the vertices of a square.

22. Find the area of the quadrilateral whose vertices are A(0,0), B(6,0), C(4,3) and D(0,3).

23. Prove that the angle between the two tangents to a circle drawn from an external point, is supplementary to the angle subtended by the line segment joining the points of contract at the centre.

24. Construct a ABC in which BC = 5cm, CA=6 cm and AB = 7 cm. Construct a A’BC’ similar to BC , each of whose sides are  7/5 times the corresponding sides of ABC.

25. In fig. 3, ABCD is a Quadrant of a circle of radius 14 cm and a semicircle BED is drawn with BD as diameter. Find the area of the shaded region.(HOT)

OR

 Find the area of the shaded region in fig 4. , If PR = 24 cm, PQ= 7cm and O is the center of the circle.

Section D

26. An aeroplane left 30 minutes later than its scheduled time, and in order to reach its destination 1500 km away in time , it has to increase its speed by 250 km/hour usual speed. Determine its usual speed.

27. a person standing on the bank of a river observes that the angle of elevation of the top of the tower standing on the opposite bank is 600. When he moves 40 m away from the width of the river.( use ( 3= 1.732)

OR

As observed from the top of a lighthouse, 100 m high above sea level, the angle of depression of a ship sailing directly towards it, changes from 300 to 600, Determine the distance travelled by the ship sailing directly towards it, changes from 300 to 600. Determine the distance traveled by the ship during the period of observation.( use ( 3= 1.732)

28. Prove that the ratio of the areas  of two similar triangles is equal  to the ratio of the squares of their corresponding sides.

Using  the above , do the following :

If D is a point on the side AB of ABC such that AD: DB = 3:2 and the areas of  ABC and BDE.

OR

Prove that the lengths of the two tangents drawn from an external point to a circle are equal.

Using the above, do the following:

Two concentric circles are of radii 5 cm and 3 cm. Find the length of the chord of the larger circle which is tangent to the smaller circle.

29. A woolen article was made by scooping out a hemisphere from each end of a solid cylinder. If the height of the cylinder is 20 cm and radius of the base is 3.5 cm . find the total surface area of the article.

30. Find the mean, mode and median for the following data:

	CLASS


	FREQUENCY

	0-10


	8

	10-20


	16

	20-30


	36

	30-40


	34

	40-50


	6

	TOTAL


	100
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